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What is it?

Geometric a sequence in which the same nu{nber
Sequences is repeatedly multiplied(or divided)
Common Ratio | the number repeatedly multiplied or
}

l

’divided/} r

multiplication
or division




Determine whether the following represent geometric
sequences. If yes, identify the common ratio.

1.2, 10, 50, 250, . & 135,45, 15, 5; -

L&Q)SP 5

6, 18, 24, 30, . 4.7,-14, 28, -56, ...

O Yus, r=-3

5- 80, '4'0, 20, '10,]...

6. -9, -36, -144, -576, ...



conm Given the geometric sequence, find the next three terms.
Geometric  |7.7, 21,63, =199, 5§10, =170]
Sequences 8. 3072, 768, 192, Ll'?_, l a ; 3
o842 | . 'l& i

10.-5, -25, -125,— 08 5 ~ 8135 -150 35




The n™ term of a geometric sequence can be found
using the following fonnula

Qu=Q-M""

Examples
Write the rule for

the nth term,
then find a;.

12 -4, 20, -100, .

Q= -t~
-%(ﬁf




13. 400, 200, 100, ... 14.1, 5, 25, ...
r’ —
r —
a1 =
a1 =
n=
n:
You Iry:
15. -1, -4, -16, ... | 16. 729, -243, 81, ...
r= r=

a = ai =

n= n=
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Formulas and their Purpose

Geometric Sequences
Explicit Formula: 4, = a,-r"!

First Term

“Finds a specific term”

Current Common Ratio

Term

Previous

Recursive Formula: A, = A, 1T

“Uses previous terms to find the next terms”

- .
1



17.0; <12, 24, ...

r =

Real Life

Application
Year Value ($)
1 10,000
2 8,000
3 6,400

18.8, 12, 18, ...

Y Q=9

ar=_9

The table to the left shows a car’s value for 3 years
after it is purchased.

19. Write a rule to represent the car’s depreciation.
(‘= H5 oR. ¥ QJ_K- ‘0'000 . <&§1_‘
20. What will be the value of the car after 10 years?
Q= 10,000+ ()"
Qo= ¥134q, |



